100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64053 File # 10067-114

Re: Tardif v Barbara Zwatschek

Statement for Services Rendered Through

Feb 28/11

15 20 15 1 10 10 10			Legar rees		The state of the s	A COLUMN TO STATE OF THE PARTY
08/26/10	СВН	Prepare and file complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	СВН	Final preparation without prejudice		of voluntary dismissal	0.20hr \$150.00/hr	\$30.00
		Total Legal Fees	***		0.50	\$75.00
FEE SUMM			Uaura	Rate	Amount	
Professiona	al		Hours	Nate		
Colleen B Ho	pkins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	_	\$75.00	
	Yuaning Switzen		Costs Advance	d		
	Copying					1.05
	Postage					0.98
	Total Cost	s Advanced				\$2.03
			Total Invo	ice		\$77.03
			OUTSTAN	DING BALANCE		\$77.03
TRUST BAL	ANCE	\$0	.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64054 File # 10067-115

Re: Tardif v. Claudia Kolb

Statement for Services Rendered Through

Feb 28/11

08/14/10	СВН	Prepare and file r complaint.	notion to extend dea	adline for service of	0.30hr \$150.00/hr	\$45.00
08/25/10	AB		with P. Esser re: ter 0% of claim against		0.30hr \$210.00/hr	\$63.00
		Total Legal Fees	r. x. r.		0.60	\$108.00
FEE SUMM/ Professiona			Hours	Rate	Amount	¥
Alexandra Bly Colleen B Hop			0.30 0.30	\$210.00 \$150.00	\$63.00 \$45.00	
Total Legal F	ees		0.60	-	\$108.00	
			Costs Advance	d		
	Copying					0.75
	Postage					0.98
	Total Costs	Advanced				\$1.73
			Total Invoi	ice		\$109.73
			OUTSTANI	DING BALANCE	<u> </u>	\$109.73
TRUST BALA	ANCE	\$0.	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64055 File # 10067-116

Re: Tardif v Daniela Di Liberto

Statement for Services Rendered Through

Feb 28/11

08/27/10	СВН	Final prepara service of co		filing motior	to extend deadline for	0.20hr \$150.00/hr	\$30.00
09/20/10	СВН	Final prepara without preju		filing notice	of voluntary dismissal	0.20hr \$150.00/hr	\$30.00
		Total Legal F	ees			0.40	\$60.00
FEE SUMMA Professiona			Н	ours	Rate	Amount	
Colleen B Hop	okins			0.40	\$150.00	\$60.00	
Total Legal F	ees			0.40	,	\$60.00	
			Cos	sts Advance	ed		
	Copying						1.05
	Postage						0.98
	Total Cost	s Advanced				6.4	\$2.03
				Total Invo	pice		\$62.03
				OUTSTAN	IDING BALANCE		\$62.03
TRUST BALA	ANCE		\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64056 File # 10067-117

Re: Tardif v Dr. Kapaun Grundstuecksgemeinschaft

Statement for Services Rendered Through

		Legal Fees		
06/25/10	AB	Receipt and review of COS for Notice of Pre-trial. Revised same for filing.	0.30hr \$210.00/hr	\$63.00
06/30/10	AB	Review and analysis of Defendant's Motion to Dismiss. Interoffice conference with R. Elgidely re: response to same.	0.50hr \$210.00/hr	\$105.00
07/02/10	АВ	Pulled and reviewed docket (.3), prepared for and conducted Rule 26(f) Conference (.5) with D. Schutt. Drafted proposed Rule 26(f) Report (1.0) and sent correspondence to D. Schutt regarding proposed Report and drafting of Agreed Order on Motion to Dismiss quashing service (.2).	2.00hr \$210.00/hr	\$420.00
08/06/10	AB	Receipt and review of COS on Summons and Complaint.	0.20hr \$210.00/hr	\$42.00
08/13/10	СВН	Prepare and file motion to extend the deadline for service of complaint.	0.30hr \$150.00/hr	\$45.00
08/17/10	АВ	Prepared for, attended and represented client at pre-trial conference and hearing on Trustee's Motion to Extend Service Deadline and Defendant's Motion to Dismiss.	1.00hr \$210.00/hr	\$210.00
08/31/10	СВН	Prepare and upload order granting motion to extend deadline for service of complaint and continue pre-trial conference.	0.30hr \$150.00/hr	\$45.00
09/13/10	СВН	Final preparation of and re-upload order granting motion to continue pre-trial conference.	0.30hr \$150.00/hr	\$45.00
09/30/10	СВН	Final preparation of and upload order on motion to dismiss, motion to extend deadline and continued pre-trial conference.	0.30hr \$150.00/hr	\$45.00
10/11/10	AB	Consider and revise COS on Order Granting Motion to Extend, Motion to Dismiss, and to Continue Pretrial.	0.20hr \$210.00/hr	\$42.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 5 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-117

File # 10067-117 Inv. # 64056

11/24/10	AB	Revise and consi Voluntarily Dismi	der COS on Order g ss.	ranting Motion to	0.20hr \$210.00/hr	\$42.00
		Total Legal Fees	10.8 E		5.60	\$1,104.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Alexandra Bly	e		4.40	\$210.00	\$924.00	
Colleen B Hop	kins		1.20	\$150.00	\$180.00	
Total Legal Fe	ees		5.60		\$1,104.00	
			Costs Advanced	d		
	Copying					7.05
	Postage					0.75
	Total Costs	Advanced			<u></u>	\$7.80
			Total Invoi	ce		\$1,111.80
			OUTSTANI	DING BALANCE		\$1,111.80

\$0.00

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64057 File # 10067-118

Re: Tardif v Emst Fina Frank

Statement for Services Rendered Through

			Legal Fees			
09/20/10	СВН	Prepare and file prejudice; review	notice of voluntary di case docket.	smissal without	0.30hr \$150.00/hr	\$45.00
		Total Legal Fees	***		0.30	\$45.00
FEE SUMM/ Professiona		i a	Hours	Rate	Amount	
Colleen B Hop	okins		0.30	\$150.00	\$45.00	
Total Legal F	ees		0.30	2	\$45.00	
	9.					
		.9	Total Invoi	ce		\$45.00
			OUTSTANI	DING BALANCE	-	\$45.00
TRUST BAL	ANCE	\$0	.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64058 File # 10067-119

Re: Tardif v Gabriele Dolzig

Statement for Services Rendered Through

Feb 28/11

08/11/10	СВН	Prepare and file complaint.	motion to extend dea	dline for service of	0.30hr \$150.00/hr	\$45.00
09/20/10	СВН	Final preparation without prejudice		f voluntary dismissal	0.20hr \$150.00/hr	\$30.00
		Total Legal Fees		Œ	0.50	\$75.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Colleen B Ho	pkins	¥	0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	<u></u>	\$75.00	
			Costs Advanced		20 C 10 C 20 C 20 C 10 C 20 C 10 C 20 C 10 C 20 C 2	////S/195
	Copying					1.05
	Postage					1.05
	Total Cost	s Advanced				\$2.10
			Total Invoi	ce		\$77.10
			OUTSTANI	DING BALANCE		\$77.10
TRUST BAL	ANCE	\$0	0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64059 File # 10067-120

Re: Tardif v Gaetano Depetro

Statement for Services Rendered Through

MXX III P			Legal Fees			
08/27/10	СВН		Final preparation of and filing motion to extend deadline for service of complaint.			\$30.00
09/20/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.		0.20hr \$150.00/hr	\$30.00
		Total Legal Fees	***		0.40	\$60.00
FEE SUMMA			Hours	Rate	Amount	
Colleen B Hop	okins		0.40	\$150.00	\$60.00	
Total Legal F	ees		0.40	·	\$60.00	
			Costs Advance	ed		
	Copying					1.05
	Postage					0.98
	Total Cost	s Advanced				\$2.03
			Total Invo	ice		\$62.03
			OUTSTAN	DING BALANCE		\$62.03
TRUST BALA	ANCE	\$0	.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64060 File # 10067-121

Re: Tardif v Hans-Guenter Burgchatz

Statement for Services Rendered Through

Feb 28/11

			Legal Fee			
08/11/10	СВН	Prepare and file complaint.	e motion to extend o	deadline for service of	0.30hr \$150.00/hr	\$45.00
09/20/10	СВН	Final preparatio without prejudic		tice of voluntary dismissal	0.20hr \$150.00/hr	\$30.00
		Total Legal Fee	S		0.50	\$75.00
FEE SUMM	ADV.					
Professiona			Hours	Rate	Amount	
Colleen B Hop	pkins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	-	\$75.00	
			Costs Advan	ced		
	Copying					1.05
	Postage					0.98
	Total Cost	s Advanced				\$2.03
			Total Inv	voice		\$77.03
			OUTSTA	ANDING BALANCE		\$77.03
TRUST BAL.	ANCE	\$	0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64061 File # 10067-122

Re: Tardif v Heinz-Peter Foerste

Statement for Services Rendered Through

e order to but the experience		Legal Fees		
06/25/10	AB	Receipt and review of COS for Notice of Pretrial. Revised same for filing.	0.30hr \$210.00/hr	\$63.00
06/25/10	AB	Additional revisions to COS for Notice of Pretrial.	0.20hr \$210.00/hr	\$42.00
08/06/10	AB	Receipt and review of COS for Summons and Complaint.	0.20hr \$210.00/hr	\$42.00
08/12/10	СВН	Prepare and file motion to extend deadline for service of complaint.	0.30hr \$150.00/hr	\$45.00
08/17/10	АВ	Prepared for, attended and represented client at pre-trial conference and hearing on Trustee's Motion to Extend Service Deadline.	1.00hr \$210.00/hr	\$210.00
08/31/10	CBH	Prepare and upload order granting motion to extend deadline for service of complaint and continue pre-trial conference.	0.30hr \$150.00/hr	\$45.00
09/27/10	AB	Draft and revise Motion for Voluntary Dismissal.	0.30hr \$210.00/hr	\$63.00
09/28/10	AB	Draft and revise Motion for Voluntary Dismissal.	0.30hr \$210.00/hr	\$63.00
09/28/10	AB	Draft and revise Order Granting Motion For Voluntary Dismissal.	0.20hr \$210.00/hr	\$42.00
		Total Legal Fees	3.10	\$615.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 11 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-122 File # 10067-122 Inv. # 64061

FEE SUMMARY: Professional	Hours	Rate	Amount
Alexandra Blye Colleen B Hopkins	2.50 0.60	\$210.00 \$150.00	\$525.00 \$90.00
Total Legal Fees	3 10		\$615.00

	- Costs Advanced	
Copying		3.75
Postage		2.44
Total Costs Advanced		\$6.19
	Total Invoice	\$621.19
	OUTSTANDING BALANCE	\$621.19

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64062 File # 10067-123

Re: Tardif v Helmut Friedl

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

Man Salah Sa			Legal Fees -			The state of the s
08/27/10	СВН	Final preparation service of comple		to extend deadline for	0.20hr \$150.00/hr	\$30.00
08/31/10	СВН	Prepare and file defendant's serv	amended certificate of	0.30hr \$150.00/hr	\$45.00	
09/20/10 CBH Preparation of and filing notice of voluntary dismissal without prejudice; review of docket.					0.20hr \$150.00/hr	\$30.00
	0.70	\$105.00				
FEE SUMM Professiona Colleen B Ho	al		Hours 0.70	Rate \$150.00	Amount \$105.00	
Total Legal F	ees		0.70		\$105.00	
			Costs Advanced	d 1000 1000 1000		
	Copying					1.05
	Total Cos	ts Advanced				\$1.05
			Total Invoi	ce		\$106.05
			OUTSTANDING BALANCE			\$106.05

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64063 File # 10067-124

Re: Tardif v Helmut Scheidbach

Statement for Services Rendered Through

		Legal Fees		
06/08/10	AB	Review of Notice of Pretrial, and COS for Notice of Pretrial.	0.30hr \$210.00/hr	\$63.00
06/22/10	AB	Receipt and review of correspondence from P. Esser re: potential defense to liability as net investor. Request confirmation of transfers from C. Fox re:same.	0.20hr \$210.00/hr	\$42.00
06/23/10	AB	Receipt and review of Motion for SJ. Pulled and reviewed FRCP 56 regarding summary judgment.	0.40hr \$210.00/hr	\$84.00
06/29/10	АВ	Receipt and review of Defendant's Notice of Hearing on Motion for Summary Judgment. Correspondence with R. Elgidely re: same and Rule 26(f) conference with Darrin Schutt, Esq. set for Thursday, July 1, 2010.	0.30hr \$210.00/hr	\$63.00
06/30/10	АВ	Correspondence to Court regarding nature of early hearing date for Motion for Summary Judgment prior to deadline to file a response.	0.20hr \$210.00/hr	\$42.00
06/30/10	AB	Review and analysis of Defendant's Motion for Summary Judgment. Interoffice conference with R. Elgidely re: response to same.	0.50hr \$210.00/hr	\$105.00
07/01/10	AB	Analysis of loan documents, principal investment, and received interest payments referenced in Defendant's Motion for Summary Judgment. Correspondence to C. Fox, A. Tashiro and P. Esser re: same and to request additional documentation to determine potential net investor status of Defendant.	0.30hr \$210.00/hr	\$63.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 14 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-124

File # 10067-124 Inv. # 64063

07/02/10	АВ	Pulled and reviewed docket (.3), prepared for and conducted Rule 26(f) Conference (.5) with D. Schutt, Drafted proposed Rule 26(f) Report (1.0), Motion to Continue Hearing on Motion for Summary Judgment and proposed order granting same [2.0] and sent correspondence to D. Schutt regarding proposed Report and Motion to Continue and Order(.2).	4.00hr \$210.00/hr	\$840.00
07/06/10	AB	Follow up with D. Schutt re: agreement to proposed Motion to Continue.	0.20hr \$210.00/hr	\$42.00
07/07/10	AB	Receipt and review of correspondence from D. Schutt re: agreement to Motion to Continue SJ Hearing. Finalized same for filing.	0.30hr \$210.00/hr	\$63.00
07/07/10	AB	Analysis of pension documents regarding withdrawal of retirement funds, conversion of funds to euros and cash, and investment with PCO via an intermediate broker. Correspondence to P. Esser, A. Tashiro and R. Elgidely re: same as it relates to consideration of voluntary dismissal and Motion for SJ.	0.40hr \$210.00/hr	\$84.00
07/07/10	АВ	Receipt and review of correspondence from A. Tashiro re: analysis of Scheidbach's support for "net investor" theory. Response to A. Tashiro re: same and clarification of lack of documentation for initial investment due to alleged payment being made in case and not substantiated by documentation, i.e. wire advice.	0.20hr \$210.00/hr	\$42.00
07/07/10	СВН	Final preparation of and file motion to continue hearing on motion for summary judgment and upload proposed order; updates to litigation chart.	0.50hr \$150.00/hr	\$75.00
07/08/10	AB	Receipt and review of Order Granting Motion to Continue Hearing On Defendant's Motion For Summary Judgment	0.20hr \$210.00/hr	\$42.00
07/08/10	AB *	Analysis of Scheidbach documentation supporting cash investment in Engler ponzi scheme via broker, Kurt Beer; consideration of schedule & support for Beer adversary re: support for transfers from Scheidbach to Beer during relevant time period; multiple correspondence with A. Tashiro and P. Esser re: same.	0.50hr \$210.00/hr	\$105.00
07/12/10	MAM	Multiple Communications with R. Elgidely, A. Blye and C. Fox regarding case status, case strategy issues, Defendant's Motion for Summary Judgment, and Response and Affidavit of Carol Fox in Opposition to Defendant's Motion for Summary Judgment.	0.90hr \$240.00/hr	\$216.00
07/12/10	MAM	Review and Analysis of Affidavit of Carol Fox in Opposition to Defendant's Motion for Summary Judgment.	0.20hr \$240.00/hr	\$48.00
07/12/10	MAM	Drafted Correspondence to C. Fox regarding and attaching Defendant's Motion for Summary Judgment and all Exhibits thereto.	0.20hr \$240.00/hr	\$48.00
07/12/10	AB	Prepared for, attended and represented Trustee at pre-trial conference before Judge Williamson in Tampa, FL.	1.00hr \$210.00/hr	\$210.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 15 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-124

File # 10067-124 Inv. # 64063

07/12/10	RFE	Prepare Affidavit of Carol Fox, CPA in Opposition to Motion for Summary Judgment; E-Mails concerning same	0.60hr \$350.00/hr	\$210.00
07/13/10	АВ	Drafted and revised Response and Opposition to Defendant Scheidbach's Motion for Summary Judgment (2.5). Conference with B. Gruher to review and revise same (.2). Correspondence with C. Fox and D. Cimo re: revisions to Affidavit prior to filing (.3)	3.00hr \$210.00/hr	\$630.00
07/14/10	BPG	Revise and finalize Motion for Summary Judgment with A. Blye (1.2).	1.20hr \$350.00/hr	\$420.00
07/14/10	АВ	Revised Affidavit of Carol Fox in Support of Response and Opposition to Motion for Summary Judgment (.9). Conference with B. Gruher to review, revise and discuss same (.3). Multiple correspondence with C. Fox re: re-executing affidavit and preparing Amended Schedule for Scheidbach (.3).	1.50hr \$210.00/hr	\$315.00
07/14/10	АВ	Receipt and review of Revised Schedule of Helmut Scheidbach for purposes of attaching to Affidavit in Support of Response to Motion for Summary Judgment.	0.20hr \$210.00/hr	\$42.00
07/15/10	BPG	Finalize Motion for Summary Judgment with A. Blye (1.3).	1.30hr \$350.00/hr	\$455.00
07/15/10	AB	Receipt and review and revisions to Notice of Filing Affidavit of Carol Fox.	0.30hr \$210.00/hr	\$63.00
07/15/10	СВН	Prepare and file notice of filing affidavit of Carol Fox in Support of Trustee's Response and Opposition to Motion for Summary Judgment.	0.50hr \$150.00/hr	\$75.00
07/15/10	СВН	Prepare order continuing pre-trial conference.	0.20hr \$150.00/hr	\$30.00
07/16/10	AB	Reviewed, revised and uploaded Order continuing pretrial.	0.20hr \$210.00/hr	\$42.00
08/17/10	AB	Prepared for, attended and represented client at pre-trial conference and hearing on Defendant's Motion for Summary Judgment.	1.00hr \$210.00/hr	\$210.00
08/31/10	СВН	Prepare and file amended certificate of service on motion to extend deadline for service of complaint to correct defendant name and service address.	0.30hr \$150.00/hr	\$45.00
08/31/10	СВН	Prepare and upload order granting motion to extend deadline for service of complaint and continued pretrial conference.	0.30hr \$150.00/hr	\$45.00
09/28/10	AB	Draft and revise Motion for Voluntary Dismissal.	0.30hr \$210.00/hr	\$63.00
09/28/10	AB	Draft and revise Order Granting Motion For Voluntary Dismissal.	0.20hr \$210.00/hr	\$42.00
		Total Legal Fees	21.90	\$4,964.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 16 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-124 File # 10067-124 Inv. # 64063

F	Ε	E	S	U	M	M	A	R	Y	:

Professional	Hours	Rate	Amount
Barry P Gruher	2.50	\$350.00	\$875.00
Robert F Elgidely	0.60	\$350.00	\$210.00
Alexandra Blye	15.70	\$210.00	\$3,297.00
Marilee A Mark	1.30	\$240.00	\$312.00
Colleen B Hopkins	1.80	\$150.00	\$270.00
Total Legal Fees	21.90		\$4,964.00

The state of the s		- Costs Advanced	
	Copying		23.55
ī	Postage		0.44
-	Total Costs Advanced		\$23.99
		Total Invoice	\$4,987.99
		OUTSTANDING BALANCE	\$4,987.99

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64064 File # 10067-125

Re: Tardif v Hermann Stauch

Statement for Services Rendered Through

Feb 28/11

EN ENTER HOLLEN THE STATE OF TH	The state of the state of		Logui I ooo	THE RESERVE OF THE PERSON NAMED IN COLUMN TWO	A THE RESERVE AND A STREET	NAMES OF THE OWNER, WHEN
08/12/10	СВН	Prepare and file r	motion to extend tim	0.30hr \$150.00/hr	\$45.00	
09/24/10	СВН	Final preparation of and filing of notice of voluntary dismissal without prejudice.			0.20hr \$150.00/hr	\$30.00
		Total Legal Fees			0.50	\$75.00
FEE SUMMA	RY:		28			
Professional			Hours	Rate	Amount	
Colleen B Hopk	kins		0.50	\$150.00	\$75.00	
Total Legal Fe	es		0.50		\$75.00	
			Costs Advance	d		
	Copying					0.75
	Postage					0.44
	Total Cos	ts Advanced				\$1.19
			Total Invo	ice	, 	\$76.19
			OUTSTAN	DING BALANCE		\$76.19
TRUST BALA	NCE	\$0.	.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64065 File # 10067-126

Re: Tardif v HM-PV GmbH

Statement for Services Rendered Through

			Legal Fees			
08/24/10	СВН	Prepare and file n compalint.	notion to extend dea	0.30hr \$150.00/hr	\$45.00	
09/23/10	СВН	Final preparation without prejudice.	of and filing notice o	0.20hr \$150.00/hr	\$30.00	
		Total Legal Fees			0.50	\$75.00
FEE SUMMA	ARY:					
Professiona	1		Hours	Rate	Amount	
Colleen B Hop	kins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50		\$75.00	
			- Costs Advanced	d		
	Copying					1.05
	Postage					0.98
	Total Costs	s Advanced				\$2.03
			Total Invoi	ce		\$77.03
			OUTSTANI	DING BALANCE		\$77.03
TRUST BALA	ANCE	\$0.	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64066 File # 10067-127

Re: Tardif v Hubert Elmer

Statement for Services Rendered Through

Feb 28/11

___ longi Face ___

			Legal Fees			
08/11/10	СВН	Prepare and file complaint.	e motion to extend the	0.30hr \$150.00/hr	\$45.00	
09/22/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fee	9S	¥	0.50	\$75.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Colleen B Hop	okins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	_	\$75.00	
			Costs Advanced		malification of the second	
	Copying					0.75
	Postage					1.05
	Total Cos	ts Advanced				\$1.80
			Total Invoi	ce		\$76.80
			OUTSTAND	DING BALANCE		\$76.80
TRUST BALA	ANCE	9	60.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64067 File # 10067-128

Re: Tardif v Ilona Szekely

Statement for Services Rendered Through

			Legal Fees			
08/26/10	СВН	Prepare and file m complaint.	otion to extend dea	adline for service of	0.30hr \$150.00/hr	\$45.00
09/24/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees			0.50	\$75.00
FEE SUMM	∆RY·					
Professiona			Hours	Rate	Amount	
Colleen B Hop	okins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	-	\$75.00	
			- Costs Advance	d		
	Copying					1.05
	Postage					0.98
	Total Costs	s Advanced				\$2.03
			Total Invoi	ce	-	\$77.03
			OUTSTANI	DING BALANCE		\$77.03
TRUST BAL	ANCE	\$0.0	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64068 File # 10067-129

Re: Tardif v Ilse Ehgartner

Statement for Services Rendered Through

			Legal Fees			
06/22/10	АВ	Confirmation of prop to V. Lamdin and C. dismissal.		0.20hr \$210.00/hr	\$42.00	
08/11/10	СВН	Prepare and file mot complaint.	Prepare and file motion to extend time for service of complaint.			
09/22/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			
Total Legal Fees					0.70	\$117.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Alexandra Bly	-		0.20 0.50	\$210.00 \$150.00	\$42.00 \$75.00	
Total Legal F	ees	_	0.70		\$117.00	
		• • • • • • • • • • • • • • • • • • •	Costs Advance	d		That was refreshed to the state of
	Copying					5.55
	Postage	1				1.05
	Total Costs	Advanced				\$6.60
			Total Invo	ice		\$123.60
			OUTSTAN	DING BALANCE		\$123.60
TRUST BALANCE \$						

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 22 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-129 File # 10067-129 Inv. # 64068

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64069 File # 10067-130

Re: Tardif v Jasenka Novakovic

Statement for Services Rendered Through

		Legal Fees		A CONTRACTOR OF THE PARTY OF TH	
09/22/10 CBH	O9/22/10 CBH Final preparation of and filing notice of voluntary dismissal without prejudice.			0.20hr \$150.00/hr	\$30.00
	Total Legal Fees	f t o		0.20	\$30.00
FEE SUMMARY: Professional		Hours	Rate	Amount	
Fiolessional		Hours	Nate	Amount	
Colleen B Hopkins		0.20	\$150.00	\$30.00	
Total Legal Fees		0.20	_	\$30.00	
		Costs Advance	d		
Copying					0.75
Postage					0.98
Total Co	sts Advanced			=	\$1.73
		Total Invo	ice	•	\$31.73
		OUTSTAN	DING BALANCE	-	\$31.73
TRUST BALANCE	\$0.0	0			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64070 File # 10067-132

Re: Tardif v Karin Marxreiter-Weber

Statement for Services Rendered Through

			- Legal Fees		4	
08/24/10	СВН	Prepare and file motion to extend deadline for service of complaint.			0.30hr \$150.00/hr	\$45.00
		Total Legal Fees			0.30	\$45.00
FEE SUMMA			Hours	Rate	Amount	
Colleen B Ho	pkins		0.30	\$150.00	\$45.00	
Total Legal F	ees		0.30	-	\$45.00	
		Q	osts Advance	d		
	Copying					0.30
	Total Costs	Advanced				\$0.30
			Total Invoi	ice		\$45.30
			OUTSTANI	DING BALANCE	 	\$45.30
TRUST BAL	ANCE	\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64071 File # 10067-133

Re: Tardif v Klaus Weiss

Statement for Services Rendered Through

		Legal Fees		
08/12/10	СВН	Prepare and file motion to extend deadline for service of complaint.	0.30hr \$150.00/hr	\$45.00
09/23/10	AB	Correspondence to L. Patricios re: initial settlement offer.	0.20hr \$210.00/hr	\$42.00
11/17/10	АВ	Draft and revise Order granting Motion to Extend Deadline for Service of Complaint.	0.20hr \$210.00/hr	\$42.00
11/17/10	АВ	Draft and revise Second Motion to Extend Deadline for Service of Complaint.	0.30hr \$210.00/hr	\$63.00
11/22/10	AB	Conference call with L. Patricios re: settlement negotiations.	0.30hr \$210.00/hr	\$63.00
11/30/10	AB	Review and consider counter settlement offer and terms from L. Patricios. Correspondence to L. Patricios re: same.	0.30hr \$210.00/hr	\$63.00
12/06/10	AB	Draft and revise proposed settlement agreement; circulate same to L. Patricios.	1.00hr \$210.00/hr	\$210.00
12/07/10	AB	Review and consider proposed revisions by L. Patricios. Revise Settlement Agreement according to same.	0.50hr \$210.00/hr	\$105.00
12/08/10	AB	Review and consider additional revisions to Settlement Agreement proposed by L. Patricios.	0.50hr \$210.00/hr	\$105.00
12/14/10	AB	Draft and revise Order granting Second Motion for Extension of Service Deadline.	0.30hr \$210.00/hr	\$63.00
12/20/10	AB	Finalize settlement agreement based on proposed revisions from L. Patricios and R. Elgidely. Circulate final draft for review and execution.	0.30hr \$210.00/hr	\$63.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 26 of 47

	Robert E. Tardif, Jr. Chapter 7 Trustee 10067-133				File # 100 Inv. # 640	
12/20/10	RFE		rise Defendant's propos eement; E-Mails to and		0.20hr \$350.00/hr	\$70.00
01/10/11	AB		Review and consider executed copy of settlement agreement from Klaus Weiss against original.			\$42.00
01/21/11	AB	Approve Comp Cases Chart in	Review and consider status of case and Omnibus Motion to Approve Compromise of Controversy and update Pending Cases Chart in preparation for status meeting with R. Elgidely re: same.			
		Total Legal Fee	es		4.90	\$1,039.00
FEE SUMM	ARY:					
Professiona	al		Hours	Rate	Amount	
Robert F Elgio	dely		0.20	\$350.00	\$70.00	
Alexandra Bly	ye		4.40	\$210.00	\$924.00	
Colleen B Hop	okins		0.30	\$150.00	\$45.00	
Total Legal F	ees		4.90		\$1,039.00	
			- Costs Advanced			
	Copying					0.75
	Postage	A 1				0.44
	Total Costs	Advanced				\$1.19
			Total Invoid	ce	-	\$1,040.19

OUTSTANDING BALANCE

\$1,040.19

Page 2

\$0.00

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64072 File # 10067-134

Re: Tardif v Konrad Karl Tschoell

Statement for Services Rendered Through

			Legal Fees -	-7		
08/12/10	СВН	Prepare and file m	Prepare and file motion to extend time for service of complaint.			\$45.00
09/24/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees .	5/5		0.50	\$75.00
FEE SUMM	ARY:					
Professiona			Hours	Rate	Amount	
Colleen B Ho	pkins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	_	\$75.00	
		-	- Costs Advanced	f		A TANK AND WALSTON
	Copying					1.05
	Postage					0.44
	Total Costs	Advanced				\$1.49
			Total Invoi	* ce		\$76.49
			OUTSTAND	ING BALANCE		\$76.49
TRUST BAL	ANCE	\$0.0	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64073 File # 10067-135

Re: Tardif v Ludwig Frede

Statement for Services Rendered Through

		Legal Fees			
08/12/10 CBH	Prepare and file mo	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/20/10 CBH		Prepare and file notice of voluntary dismissal without prejudice; review of case docket.			\$45.00
	Total Legal Fees	ಕ	۵	0.60	\$90.00
FEE SUMMARY:					
Professional		Hours	Rate	Amount	
Colleen B Hopkins		0.60	\$150.00	\$90.00	
Total Legal Fees		0.60	-	\$90.00	
	- ·	- Costs Advance	d		
Copying					1.05
Postage					0.44
Total Cos	sts Advanced				\$1.49
		Total Invoi	ce	-	\$91.49
		OUTSTANI	DING BALANCE		\$91.49
TRUST BALANCE	\$0.0	0			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64074 File # 10067-136

\$215.18

Re: Tardif v Lutz Kuehne

Statement for Services Rendered Through

Feb 28/11

	Was Illumin to Machine and	The state of the s	Legal Fees			
08/14/10	СВН	Prepare and file motion complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/27/10	AB	Draft and revise Motion	Draft and revise Motion for Voluntary Dismissal.			\$63.00
09/28/10	АВ	Draft and revise Motion	Draft and revise Motion for Voluntary Dismissal.			\$63.00
09/28/10	AB	Draft and revise Order (Dismissal.	Draft and revise Order Granting Motion for Voluntary Dismissal.			\$42.00
		Total Legal Fees			1.10	\$213.00
FEE SUMM	ARY:					
Professiona	al	ŀ	Hours	Rate	Amount	
Alexandra Bl	ye		0.80	\$210.00	\$168.00	
Colleen B Hop			0.30	\$150.00	\$45.00	
Total Legal F	ees	-	1.10	-	\$213.00	
		Co	sts Advance	d		
	Copying					1.20
	Postage					0.98
	Total Costs	Advanced				\$2.18

Total Invoice

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 30 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-136 File # 10067-136 Inv. # 64074

OUTSTANDING BALANCE

\$215.18

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64075 File # 10067-137

Re: Tardif v. Manuela Coreoni

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			Samuel Control
08/27/10	СВН	Prepare and file mo	Prepare and file motion to extend deadline for service of complaint.			
08/31/10	СВН	extend deadline for	Prepare and file amended certificate of service on motion to extend deadline for service of complaint to correct defendant's service address.			\$45.00
09/20/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
Total Legal F					0.70	\$105.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Colleen B Hop	okins	*	0.70	\$150.00	\$105.00	
Total Legal F	ees	-	0.70		\$105.00	
			Costs Advanced	1	Two pi	
	Copying					0.30
	Total Cost	s Advanced	\$			\$0.30
			Total Invoi	ce		\$105.30
			OUTSTAND	DING BALANCE		\$105.30
TRUST BALA	ANCE	\$0.00)			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64076 File # 10067-138

Re: Tardif v Marie France Rossier

Statement for Services Rendered Through

7			Legal Fees		10	
08/27/10	СВН	Prepare and file mo complaint.	Prepare and file motion to extend deadline for service of complaint.			\$30.00
09/23/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees			0.40	\$60,00
FEE SUMMA Professional			Hours	Rate	Amount	
Colleen B Hop	kins		0.40	\$150.00	\$60.00	
Total Legal Fe	ees	-	0.40	_	\$60.00	
			Costs Advance	d		
	Copying	¥'				1.05
	Total Cos	ts Advanced				\$1.05
			Total Invoi	ce		\$61.05
			OUTSTANI	DING BALANCE		\$61.05
TRUST BALA	NCE	\$0.00	ı			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64077 File # 10067-139

Re: Tardif v Martin Eppensteiner

Statement for Services Rendered Through

			Legal Fees			
08/12/10	СВН	Prepare and file m complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees			0.50	\$75.00
FEE SUMM		Ж				
Professiona	al		Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	Total Legal Fees		0.50	, -	\$75.00	
			- Costs Advance	1		
	Copying					1.80
	Postage					0.44
	Total Costs	Advanced				\$2.24
			Total Invoi	ce		\$77.24
			OUTSTANI	DING BALANCE		\$77.24
TRUST BAL	ANCE	\$0.0	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64078 File # 10067-140

Re: Tardif v Matthias Baumeler

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			
09/17/10 CBH Final preparation of and upload notice of voluntary dismissal without prejudice.			0.30hr \$150.00/hr	\$45.00		
		Total Legal Fees			0.30	\$45.00
FEE SUMM Profession			Hours	Rate	Amount	
Colleen B Ho	pkins		0.30	\$150.00	\$45.00	
Total Legal F	Fees	_	0.30	_	\$45.00	
			Costs Advance	d		
	Copying					0.30
	Total Cost	s Advanced				\$0.30
			Total Invoi	ce	-	\$45.30
			OUTSTAN	DING BALANCE		\$45.30
TOUCT DAL	ANCE	የለ በሳ				

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64079 File # 10067-141

Re: Tardif v Maximillian Huber

Statement for Services Rendered Through

		Legal Fees		
07/09/10	AB	Receipt and review of COS. Revised same for filing.	0.20hr \$210.00/hr	\$42.00
07/12/10	AB	Prepared for, attended and represented Trustee at pre-trial conference before Judge Williamson in Tampa, FL.	1.00hr \$210.00/hr	\$210.00
07/15/10	СВН	Prepare order continuing pre-trial conference.	0.20hr \$150.00/hr	\$30.00
07/16/10	AB	Reviewed, revised and uploaded Order continuing pretrial.	0.20hr \$210.00/hr	\$42.00
08/13/10	СВН	Prepare and file motion to extend deadline for service of complaint.	0.30hr \$150.00/hr	\$45.00
08/17/10	АВ	Prepared for, attended and represented client at pre-trial conference and hearing on Trustee's Motion to Extend Service Deadline.	1.00hr \$210.00/hr	\$210.00
08/31/10	СВН	Prepare and upload order granting motion to extend deadline for service of complaint and continued pre-trial conference.	0.30hr \$150.00/hr	\$45.00
10/11/10	АВ	Draft and revise COS on Order Granting Trustee's Motion to Extend Deadline for Service of Complaint and Continuing Pretrial Conference.	0.20hr \$210.00/hr	\$42.00
10/16/10	AB	Draft and revise Motion for Voluntary Dismissal and proposed order granting same.	0.30hr \$210.00/hr	\$63.00
10/28/10	CBH	Prepare certificate of service on order dismissing case (.3); update to adversary chart (.1).	0.40hr \$150.00/hr	\$60.00
10/29/10	СВН	Final preparation of and filing certificate of service on order dismissing case; serve order.	0.30hr \$150.00/hr	\$45.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 36 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-141

File # 10067-141 Inv. # 64079

11/01/10	СВН		Prepare and file amended certificate of service to correct defendant name.			0.30hr \$150.00/hr	\$45.00
		Total Legal F	ees			4.70	\$879.00
FEE SUMM Profession			ı	Hours	Rate	Amount	
Alexandra Bl Colleen B Ho	-			2.90 1.80	\$210.00 \$150.00	\$609.00 \$270.00	
Total Legal F	ees			4.70	_	\$879.00	
		Annual National	Cc	sts Advance	d		
	Copying						9.30
	Postage						2.61
	Total Costs	Advanced					\$11.91
				Total Invoi	ce		\$890.91
				OUTSTANI	DING BALANCE		\$890.91
TRUST BAL	ANCE		\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway **Suite 1220** Fort Myers, FL 33919

March 25, 2011 Inv. # 64080 File # 10067-142

Re: Tardif v Minka Hausschild

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			
06/22/10	AB	Receipt and review transfer. Correspondence to Dismissal.	dence to A. Tashi	0.30hr \$210.00/hr	\$63.00	
08/23/10	СВН	Prepare and file mo complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	CBH	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	Total Legal Fees			
FEE SUMMA Professiona			Hours	Rate	Amount	
Alexandra Blye Colleen B Hopkins			0.30 0.50	\$210.00 \$150.00	\$63.00 \$75.00	
Total Legal F	ees	-	0.80		\$138.00	
			Costs Advanced	1		
	Copying					1.80
	Postage					1.96
	Total Costs	Advanced			,	\$3.76
Total Invoice						\$141.76
		****	\$141.76			

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 38 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-142 File # 10067-142 Inv. # 64080

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64081 File # 10067-143

Re: Tardif v Monica Thaler-Frei

Statement for Services Rendered Through

				Legal Fees			
08/12/10	СВН	Prepare and fi complaint.	Prepare and file motion to extend time for service of omplaint.				\$45.00
09/24/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			0.20hr \$150.00/hr	\$30.00
		Total Legal Fe	es			0.50	\$75.00
FEE SUMM		*		lours	Rate	Amount	
Professiona	11		r		Rate		
Colleen B Hop	okins			0.50	\$150.00	\$75.00	
Total Legal F	ees			0.50		\$75.00	
			Co	sts Advance	d	SOUTH STATE OF STATE	
	Copying						1.05
	Postage						0.44
	Total Costs	Advanced					\$1.49
				Total Invo	ice		\$76.49
				OUTSTAN	DING BALANCE		\$76.49
TRUST BALA	ANCE		\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64082 File # 10067-144

Re: Tardif v Nora Koch

Statement for Services Rendered Through

		Legal Fees -	·		
08/14/10	СВН	Prepare and file motion to extend the complaint.	deadline for service of	0.30hr \$150.00/hr	\$45.00
08/25/10	AB	Motion in Opposition to Motion to Exte	end Service Deadline.	0.30hr \$210.00/hr	\$63.00
09/27/10	AB	Draft and revise Motion for Voluntary I	Dismissal.	0.30hr \$210.00/hr	\$63.00
09/28/10	AB	Draft and revise Motion for Voluntary [Dismissal.	0.30hr \$210.00/hr	\$63.00
09/28/10	AB	Draft and revise Order Granting Motion Dismissal.	n for Voluntary	0.20hr \$210.00/hr	\$42.00
		Total Legal Fees		1.40	\$276.00
FEE SUMM.		Hours	Rate	Amount	
Alexandra Blye Colleen B Hopkins		1.10 0.30	\$210.00 \$150.00	\$231.00 \$45.00	
Total Legal Fees		1.40		\$276.00	

Costs Advanced	
Copying	1.65
Postage	1.42
Total Costs Advanced	\$3.07

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 41 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-144 File # 10067-144 Inv. # 64082

Total Invoice \$279.07

OUTSTANDING BALANCE \$279.07

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64083 File # 10067-145

Re: Tardif v Oswald Sauter

Statement for Services Rendered Through

		Legal Fees -				
08/27/10	CBH	Final preparation of and filing motion to service of complaint.	o extend deadline for	0.20hr \$150.00/hr	\$30.00	
10/01/10	AB	Draft and revise Order Granting Motion Deadline.	Draft and revise Order Granting Motion to Extend Service Deadline.			
10/15/10	AB		Draft and revise COS on Order Granting Trustee's Motion to Extend Deadline for Service of Complaint.			
10/16/10	AB		Draft and revise COS on Order Granting Trustee's Motion to Extend Deadline for Service of Complaint.			
10/16/10	AB	Draft and revise Notice of Voluntary Di	Draft and revise Notice of Voluntary Dismissal .			
		Total Legal Fees		1.00	\$198.00	
FEE SUMMA Professiona		Hours	Rate	Amount		
Alexandra Blye 0.80 \$210.00		\$168.00				
Colleen B Hop	Colleen B Hopkins 0.20 \$150.00			\$30.00		
Total Legal F	ees	1.00	-	\$198.00		

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 43 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-145 File # 10067-145 Inv. # 64083

Total Invoice \$201.23

OUTSTANDING BALANCE \$201.23

TRUST BALANCE

\$0.00

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64084 File # 10067-146

Re: Tardif v Panadera Trading, Ltd.

Statement for Services Rendered Through

		Legal Fees'		
06/25/10	AB	Receipt and review of COS for Notice of Pretrial Conference. Revised same for filing.	0.20hr \$210.00/hr	\$42.00
08/09/10	AB	Receipt and review of Certificate of Service of Complaint and Summons for service and filing.	0.20hr \$210.00/hr	\$42.00
08/13/10	СВН	Prepare and file motion to extend deadline for service of complaint.	0.30hr \$150.00/hr	\$45.00
08/16/10	СВН	Prepare and file amended certificate of service on trustee's motion to extend the deadline for service of complaint.	0.30hr \$150.00/hr	\$45.00
08/17/10	АВ	Prepared for, attended and represented client at pre-trial conference and hearing on Trustee's Motion to Extend Service Deadline.	1.00hr \$210.00/hr	\$210.00
08/17/10	СВН	Provide copies of adversary answers to R. Elgidely and A. Blye pursuant to appearance at pre-trial conferences.	0.50hr \$150.00/hr	\$75.00
08/31/10	СВН	Prepare and upload motion to extend deadline for service of complaint and continued pretrial conference.	0.30hr \$150.00/hr	\$45.00
09/27/10	AB	Draft and revise Motion for Voluntary Dismissal .	0.30hr \$210.00/hr	\$63.00
09/28/10	AB	Draft and revise Motion for Voluntary Dismissal.	0.30hr \$210.00/hr	\$63.00
		Total Legal Fees	3.40	\$630.00

Case 9:08-bk-04360-MGW Doc 605-7 Filed 03/31/11 Page 45 of 47

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-146

File # 10067-146 Inv. # 64084

FEE SUMMARY: Professional	Hours	Rate	Amount
Alexandra Blye Colleen B Hopkins	2.00 1.40	\$210.00 \$150.00	\$420.00 \$210.00
Total Legal Fees	3.40		\$630.00

Total Legal Fees		3.40	\$630.00
	Cost	Advanced	
Copying			5.25
Postage			4.25
Total Costs Advanced	C#1280#		\$9.50
		Total Invoice	\$639.50
		OUTSTANDING BALANCE	\$639.50
TRUST BALANCE	\$0.00		

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64085 File # 10067-147

Re: Tardif v Peter Assauer

Statement for Services Rendered Through

			LegalFees			
08/11/10	СВН	Prepare and file n complaint.	notion to extend dea	adline for service of	0.30hr \$150.00/hr	\$45.00
09/13/10	AB	Review and revise	Review and revise Notice of Voluntary Dismissal.			\$0.00
09/13/10	СВН	Prepare and file n prejudice.	Prepare and file notice of voluntary dismissal without prejudice.			\$75.00
		Total Legal Fees .	Total Legal Fees			\$120.00
FEE SUMMARY: Professional Hours Rate				Rate	Amount	
Alexandra Blye			0.10	\$0.00	\$0.00	
Colleen B Hopki	ns		0.80	\$150.00	\$120.00	
Total Legal Fee	es		0.90	-	\$120.00	
Lancian San Acad		6 MG MG W	- Costs Advance	d		
	Copying					0.75
	Postage					0.98
	Total Costs	Advanced				\$1.73
			Total Invoi	ce		\$121.73
		<	OUTSTANI	DING BALANCE		\$121.73
TRUST BALAN	ICE	\$0.0	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64086 File # 10067-148

Re: Tardif v Peter Brom

Statement for Services Rendered Through

			Legal Fee	S		
09/17/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice. 0.3			
		Total Legal Fees .	74 +12 gr		0.30	\$45.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Colleen B Hop	okins		0.30	\$150.00	\$45.00	
Total Legal F	ees		0.30	_	\$45.00	
			- Costs Advanc	ed:		
	Copying					0.30
	Total Cos	ts Advanced				\$0.30
			Total Inv	oice		\$45.30
			OUTSTA	NDING BALANCE		\$45.30
TRUST BALA	ANCE	\$0.0	00			